1 3 5 6 7 8 9 10
+++ FASTUNE STEEL SERVICES LTD - CONTROLLED DOCUMENT - F55-CAD_TEMPLATE - REV-8 ***
COMPONENTS PER BAY
ITEM NO. PART NUMBER DESCRIPTION QTy.
1 3D-PS-1930-G FASTMESH-3D Inter/End Post - In-Ground (1930mmH) 2
2 3DST-PN-1950 FASTMESH-3DST Panel Details (1950mmH) 1
3 TI-M8 M8 Threaded Insert 10
4 FIX-SC Spider Clip 10
5 1P4-M8-40 1P4-M8-40 Bolt 10
6 CAP-606 60x60 Post Cap 2
u 3015.00 POST CTRS. .
M ]
ST T T T T T e T T I e S
_ 3005.00 PANEL N
fof to}
foi fol
—
L
Z
< foi fol
o
o
<
o
Yo}
[0}
~
o
Q
o
o
(o]
N ) is}
ol jof ﬁ
QT
Ll =
o
& L
[a)]
Qa
O
25
el
S
20
Lo BT
% pd
¥ n . I ||
REVISIONS
REV. DESCRIPTION DATE APPROVED
A First revision 28/11/2023 PDJ
SPECIFICATION: STEEL NOTES (UNLESS OTHERWISE NOTED ABOVE): IMPORTANT NOTICE JOB REFERENCE:
IMPORTANT NOTICE
REFER TO BILL OF MATERIALS * ALL RSF/RSA - S275 N/A
COMPONENT WEIGHT: 53.06KG * ALL SHS/RHS - 5235 e ot ST 7o
ANY HINGED GATE WITH TWO HINGES WE RECOMMEND S FITTED WiTH A THIRD HinGe TeTHER AsPER | DESCRIPTION:

FIXINGS:
REFER TO BILL OF MATERIALS

WELD SIZING (UNLESS OTHERWISE NOTED ABOVE):
* <6MM - 3MM FILLET WELD
* >6<12MM - 5MM FILLET WELD

BSEN12604,

ALL GATES SHOULD HAVE A COMPLIANCE CERTIFICATE TO ACCOMPANY ALONG WITH O&M FOLLOWING
INSTALLATION.

NO LIABILITY IS ACCEPTED BY FASTLINE STEEL SERVICES FOR ANY ERROR CAUSED BY POOR INSTALLATION,

Pro Defence Mesh System - In-Ground (1950mmH)

FINISH: + >12<20MM - 6MM FILLET WELD s oo s 1o oo s o ror s oo v | L VING NO / COMPONENT REF: STATUS:
ALMEC REFER TO PROJECT SPECIFIC DOCUMENTATION 3DST-SYS-1950-G APPROVED
TOLERANCES: O THE WO CONTENT S5O N T RANIG R Y CONPAY My PROCEED T
T h 3V MATERIAL DATE: SCALE: DRAWN: CHECK. APPROVED:  REV:
- ;: Z,\g,\g JS?NTl RCETRS i —_—— 28/11/2023 NT.S LG oDy PDJ A
5 6 7 8 9 10




1 3 5 6 7 8 9 10
*** FASTUNE STEEL SERVICES LTD - CONTROLLED DOCUMENT - FSS-CAD_TEMPLATE - REV-B ***
COMPONENTS PER BAY
ITEM NO. PART NUMBER DESCRIPTION QTy.
1 3D-PS-1930-G FASTMESH-3D Inter/End Post - In-Ground (1930mmH) 2
3DST-PN-1950 FASTMESH-3DST Panel Details (1950mmH) 1
TI-M8 M8 Threaded Insert 10
FIX-SC Spider Clip 10
1P4-M8-40 1P4-M8-40 Bolt 10
CAP-606 60x60 Post Cap 2
REVISIONS
REV. DESCRIPTION DATE APPROVED
A First revision 28/11/2023 PDJ

ALMEC

SPECIFICATION:
REFER TO BILL OF MATERIALS
COMPONENT WEIGHT: 53.06KG

FIXINGS:
REFER TO BILL OF MATERIALS

FINISH:
REFER TO PROJECT SPECIFIC DOCUMENTATION

STEEL NOTES (UNLESS OTHERWISE NOTED ABOVE):
« ALL RSF/RSA - 8275
« ALL SHS/RHS - 8235

WELD SIZING (UNLESS OTHERWISE NOTED ABOVE):
* <6MM - 3MM FILLET WELD

* >6<12MM - 5SMM FILLET WELD

* >12<20MM - 6MM FILLET WELD

TOLERANCES:

* +/- 3MM MATERIAL
« +/-5MM POST CTRS
* +/- @0.5MM WIRE

IMPORTANT NOTICE

IT 1S THE INSTALLERS RESPONSIBILITY TO ENSURE THAT ANY PHYSICAL STOPS IN EITHER THE OPEN OR
CLOSED POSITION ARE CORRECTLY FITTED AND SUITABLE FOR APPLICATION.

ANY HINGED GATE WITH TWO HINGES WE RECOMMEND IS FITTED WITH A THIRD HINGE TETHER AS PER
BSEN12604,

ALL GATES SHOULD HAVE A COMPLIANCE CERTIFICATE TO ACCOMPANY ALONG WITH O8M FOLLOWING
INSTALLATION.

NO LIABILITY IS ACCEPTED BY FASTLINE STEEL SERVICES FOR ANY ERROR CAUSED BY POOR INSTALLATION,
ALL DIMENSIONS ARE TO BE CHECKED ON SITE WITH ALLOWANCES FOR VARIATIONS DUE TO NORMAL
MANUFACTURING TOLERANCES. DRAWING ERRORS OR OMISSIONS ARE TO BE REPORTED AND CHECKED

WITH DESIGN OFFICE,

NONE OF THE WORK CONTENT SHOWN IN THIS DRAWING FOR ANY COMPANY MAY PROCEED UNTIL
APPROVED COPIES ARE DISTRIBUTED AND CLEARLY MARKED "FOR CONTRUCTION".

THIS DRAWING IS COPYRIGHT AND NO PORTION SHOULD BE COPIED OR REPRODUCED WITHOUT THE
WRITTEN CONSENT OF THE AUTHOR.

JOB REFERENCE:
N/A

DESCRIPTION:

Pro Defence Mesh System - In-Ground (1950mmH)

DRAWING NO / COMPONENT REF: STATUS:
3DST-SYS-1950-G APPROVED
DATE: SCALE: DRAWN: CHECK: APPROVED:  |REV:

28/11/2023  N.T.S LC PDJ PDJ A

5 6

8 9 10




	3DST-SYS-1950-G
	Drawing View22
	Drawing View23
	Drawing View24

	3DST-SYS-1950-G (EX)
	Drawing View20
	Detail View A (1 : 5)




